soasg ngla gr bl ga

ipnlyy pole ol gl

5oz - el pm Il gahls @ alem G apgilill

NARSRTi{

MEQS.‘J
BjAuS.AJ
WSl B

E (1o 4e gons ¢l j2i P(E) 9
AW‘MU“AL"‘J‘@J‘J“AJ‘-’ P(E)
Dads
(A\B)U(B\ 4)

(AN B)U(B\A) of g (1

AAB =

AAB = (ANB)U(BNA) =

AAE 9 AAD AAA cows! (2
OIP(E) e C 9B 9 AU O i (3

(ANB)U(BNA) =

(ANB)U(BNA) (i
(AAB) AC =

o oo o B{EWAL Jleaiwls (3
(AAB)AC = (CAB) AA

(AAB) AC = AA (BAC) o gt (o

T O e

A ped iold ALY Olacdai) Ja Jdalll ae dds

AdLlas
fllR%R f21R+—>R+
x — 22 x — a2
f3:10;1] = [0; 2] fi:R—R
x — x> r— x4+ a3
f5 R—-R f6 R—R
=22+ z— x4zt

(ANBNC)U(BNANC)U(CNANB)U(ICN

Su:!J-Q:«-”
Dl Ole gasme OMI G g F B s
ki g F =G 9 f: E—= F
(b g0 f O3] Guiald (udadai g 9 f Ol 13) 431 G (1

gof 03 sedeed (udidai g o9 f L& 13 T (o (2

Gudedai g 9 f OlEs 13) go f (e piddiud OF (Sea 13ke (3

(bt [ 03 il (didad g o f Ol 13) 431 (e (4
o 9o [ 03] (A g (pidal g 0 f Gl 13) 45T (e (5

3o G bow il (g 1 ' — B o f 1 B — F (s3 (6
DAL OY LIl B 9al) (e

go f=1Idg (i
fog=Idp («_a
fof=1Idg (¢

11 G e

E={neN/10<n <24} : 2cgeall piiad
RN e pernall Jauails cisi
A={neE ; n/210} (1
B={neE ; 5/n} (2
C={necE ; 7"n’ unnombrepremier} (3
12 O e
! e pamall yiial
BNA) (v A={zeR/ |z+1]>3}
B={z€eR/ 2°+2z>15}
B 9 A J (yfieciall B g A e gamadl & yaly cass) —1
R b Mgl e

LA C Byl e —2

13 O e

E=R: o de game B (S
C=]-23[U5+0[ B=|-00;2] A=[l;4] : auad
DAL Ole gosadl aa g

AUuB , CnB ,A\B ,C ,B ,A

4 G pesd
E e Sle goamn sl 3T &M C 9 B 9 A (S
ACB=AUB=F 4i 5w (1

ACB=ANB=0 i yuo (2
ANB=AUB=A=B yi iy (3

ANB=AnNnC
=>B=Cuigu (4

15 G e

(A\B)\C= 4\ (BUC)

AUB=AuUC

(A\B)n(C\D)=(AnC)\ (BUD)
6 (o et

Dol e
AAB = (A\ B)U (B\ A)

POl o (1
(ANB)N(ANnC)=AnBnC
(ANC)N(ANB)=ANCNB

DOl et (2
(ANB)A(ANC)=AN(BAC)





